LY

7K BERE S I H SR BB TFER

IEIRHAER: 202048 16 H BifRs: 100 BMEEE:
HESHR | WHAR. SR T B SEHEEA A PR E A
INSES =1l
8 {f' SEALRR R HEREA B
v
HEEY 1. BEMD 2 Y 3. —RMO 4. FEHED
. e | PR
i | & ity piv Hfth e
. _ _ _ _ _ _ T
HmE&SE | (Fwm) | (A (57%) FR) | FE | G |
KR —
8
] L T B R
I = .
RRFEE |5 s
¥R 3
HMENE | RS | oE | B | S TR R AR
s - BB R TR R s E R e el
In >
RERF 25 | RREIE | 2 2 B 2 4, SETED.
1. IS EEEE 1 5,
WA 55l FE 3 3 2. MESESIE19;
3. EHERTEERR 1 5. REFES.
R E B R ARE 2 5. B
48400
I | 2 2 i
T &1 1. ETRETR 35,
134> ETsE | 4 4 2. R (RESHERAEE) 19, 18
a5,
1. MESZKERERRN 1 5, H—TH]
_ 0.5 4%, AL,
SIS 4 2. EWERIGE 15, LS 0.5 45
3. IR BRI 2 5, BHI 1 9.




TiH L B 1:

—g |~ FHR 2 R o | B o
i | o | (g | VMBI LRG| SR SRR
TORE T, B 3000 (F) o g | HRBE =G R e AR E (R e R
WEEhE| LR D 0. SR R = R AR N ROT
1555 [TBR4E. #ITI. e (15 70+ =R 40, &
W i 130 Ff ()| 130 Ff 7 ISR
1\ B4 =GR e R R Ve FER
R4 R 0. SO AR R = AR R BT
] 12 4 e 100% 1006 ) 12 s (12 4+ = GAER A0, T
b 40 NS
P s 1\%§zﬁ%ﬁ%mfﬁm%§§ﬁ;
€=y 2. =JIBIRS = AR B
o I B B RO B el mrerl iy
E &
1\ A ISR 52 R AR Ve AT VR
L I N 0. LS RAMERE S BIGER N ROT
T4 | TR ' HiE (7 4>+ ZGARHEAN S0, TIE A
R B
5iH G R 100% 100% 10 L 3R = AR ST B A H e i
4k s R 3
# 0. SR AME S RIS AN ROT Y
85 41 109 WiE (10 4+ = QA0 ME0, & T
GG 8
1 SR = AR S 2 RS e i
o ks e
104 & E 2 100% 100% 10 0. =HARVOME R = AR AN BCT Y
e 7 M (10 4>+ =RIRFAE0, NU4E T
35 NG 8
., 0 1 AR = 40 bR SR A5 2025 e T
A g i
o 0. SIS AR A ERE S RIS AN ST Y
7 M (10 4+ =RIRFAE0, NU4E T
NG 8
1 SR = T AT S B0 1 e T
. e
1if? 1 7 K11 KA 5 0. SIS AR A ERE S RIS AN ST Y
& i (54 0+ =Zdahr N0, 4T
NG
el o 1. HRAE = GG bR R HOE R
iifgigiﬁ%%ﬁW%ﬁ - - ; N T PR
- S R e (10 5+ =HAbaANED, &)
05 5 DR
it 85 85

BiBE: 1. IEIRERR. FAIEINMERBEERRIRTES, NSRBI,
2, BRSO ERE, RISRSR M TYREBEY, THABEBSTETREARY, ARERERATDENMEATHRRE_SIERD;
3. MWEERIBNMERSIIRSRAtLEIT B (ZIUSIRETRD Ex IR BE D) ;
4, SIEMHERETTD RN, DA XEIFE, BOXRTEE—ENR, RATHYEE, WS EXE: 100%—81%. 80%—51%. 50%—0%.
5. MBEEA "FEER 0, 2ENES "FERR AT, ARBEYE. 6 EREE=, “FEBR, Bix1 BiF 05, Bix2 BiF 605, Bir3 BIF 75 5, RIRBSMESA:
(80+60+75) +3=716 %, W&HAI 72 4.




